
1-800-664-3865     |     www.snapsports.com1-800-664-3865

INSTALLATION GUIDE
Multi-Sport Adjustable Net System

www.snapsports.com



1-800-664-3865     |     www.snapsports.com

Installation

• Tape Measure
• 1/2" Open-End Wrench
• 9/16" Open-End Wrench
• 1/2" Socket and Driver
• 9/16" Socket and Driver
• Cable Crimper or Hammer
• Standard Screw Driver
• Cable Cutter
• Knife or Scissors
• Lighter 

2

TOOLS REQUIRED:

Review all instructions prior to assembly to familiarize yourself 
with the entire installation process. If you have any concerns 
regarding your ability to install this access gate system 
safely, please call your SnapSports dealer to employ a 
qualified technician to complete the installation.

Refer to the Assembly Setup illustration on Page 4 for help.

Welcome to our winning team!
You have purchased a top-of-the-line multi-sport adjustable 
net system from SnapSports®. This system has been built to 
the highest quality standards in order to provide your family 
with many years of athletic enjoyment.

1-800-664-3865     |     www.snapsports.com

SNAPSPORTS®  MULTI-SPORT ADJUSTABLE NET SYSTEM INSTALLATION GUIDE

Parts Included:
Winch and Hardware Foot Peg and HardwareBasketball/Net Pole 

Hardware

Net Pole Hardware 
(Winch Side)

Net Positioning Hardware

3/8" – 16 J-Bolt  
(Qty. 4)

5/16" Snap Links (Qty. 4)

3/8" – 16 Pulley Assembly 
(Qty. 4)

3/8" Flat Washer  
(Qty. 8)

3/8" Flat Washer  
(Qty. 8)

3/8" Flat Washer  
(Qty. 8)

3/8" Flat Washer  
(Qty. 8)

3/8" Nylon Washer  
(Qty. 8)

3/8" Nylon Washer  
(Qty. 8)

3/8" Nylon Washer  
(Qty. 8)

3/8" Nylon Washer  
(Qty. 8)

Cable Clamp  
(Qty. 2)

Wire Cable Ferrule  
(Qty. 2)

1/4" Rope Lock 
(Qty. 2)

1/4" x 25 Ft. Black Nylon Rope  
(Qty. 2)

Bungee Cord (Qty. 2)

5/16" Flat Washer  
(Qty. 4)

Winch

Winch Handle

5/16" – 18 x 3/4"  
Hex Bolt (Qty. 4)Foot Peg (Qty. 2)3/8" – 16 x 3/4"  

Hex Bolt (Qty. 2)

*Parts shown are not to scale.



1-800-664-3865     |     www.snapsports.com

Part 1: Fixed Pole Side
1. Assemble the four (4) J-Bolt assemblies by 

securing a 3/8"-16 nut on each of the J-Bolts. Add 
a metal washer and nylon washer to each of the 
assemblies.

2. Insert the four (4) J-Bolt Assemblies, such that 
the hooks open on the topside, to the DuraSlam 
basketball pole in the four (4) holes on the front 
side of the pole. If the court is utilizing two net 
poles for the net system, then insert the J-Bolt 
assemblies on the pole that is furthest from the 
court access. Secure the J-Bolt assemblies with 
the 9/16" end wrench. 

Note: Each net/light pole will have an additional hole 
at 39". This hole is used to attach the winch on the 
opposing pole, not the J-bolt side. For this end, insert 
a plastic hole plug from the Light/Net Pole Hardware 
Pack. This will prevent water from entering the pole.

Part 2: Adjustable Pole Side
1. For each of the Pulley Assemblies, add one flat 

metal washer and nylon washer. Each assembly 
should already have the 3/8" nut attached. The 
pulley after tightened down should be facing to 
the right of the pole. 

2. On the opposing pole from the J-Bolt side, insert 
the three (3) Pulley Assemblies at the 62", 88" and 
the 96" locations on the front side of the pole. 
Tighten assemblies to the pole with a 9/16" end 
wrench.

3. Secure the winch to the pole at the 36" and 39" 
locations with the 3/8"-16 x ¾" nuts and flat metal 
washers. Tighten using the 9/16" end wrench and/or 
9/16" socket. 

4. Attach the enclosed ¼" rope and spring clamp 
assemble to the winch system. Refer to the 
enclosed winch net attachment instruction for 
details. Wind the net up over the highest pulley 
assembly and allow at least 12" of rope between 
the spring clip and the pulley assembly. 

5. Attach the foot peg to the back side of the pole 
with the 5/16" – 18 x ¾" bolts and washers. Secure 
with the 1/2" end wrench or 1/2" socket.   

Part 3: Game Net Installation  
and Positioning
Note: All Game Nets are sold separately.
1. Attach one end of the game net cable to the 

J-Bolt at 62”, or Badminton height on the net/light/
basketball pole. Attach the other end to the snap 
clip that is hooked to the rope on the opposing 
pole. 

2. Center the net over the court in the location of 
the game lines on the court. It may be necessary 
to cut the net cable in order to center the net and 
attach the net to the black rope. Cut the cable 
with cable cutters and make a new lop at the end 
with the enclosed aluminum swedge lock. With a 
hammer or crimper, secure the swedge lock. 

3. Now that the net is centered, secure the net with 
the enclosed cable clamps to keep the net from 
sliding on the net cable. Tighten the clamp with a 
Phillips head screwdriver when in position.

4. You can loosen the winch and lower the net to the 
36" position to attach the lower net positioning 
ropes.

Part 4: Lower Net Positioning  
Rope Lock Installation
Note: You can use either the enclosed Bungee 
Cords to attach the bottom corners of the net or the 
enclosed ¼" Rope Locks. 
1. Attach the quick clip to the bottom hole of the 

game net. Attach the net adjuster assembly to the 
quick clip.

2. Attach the loose quick clip to the bottom hole of 
the net pole/basketball system. Attach the loose 
end of the adjustment assembly to the quick clip 
on the net pole/basketball system.

3. Pull the loose end of the Rope Lock to tighten and 
center the bottom side of the net.

4. Leave 2 to 3 feet of excess rope and trim 
remainder off with a knife or scissors. Burn the 
ends of the rope with a lighter to prevent the ends 
from fraying.

3

1-800-664-3865     |     www.snapsports.com

SNAPSPORTS®  MULTI-SPORT ADJUSTABLE NET SYSTEM INSTALLATION GUIDE



SNAPSPORTS®  MULTI-SPORT ADJUSTABLE NET SYSTEM INSTALLATION GUIDE

To move or remove the net: Unlock by pushing the 
button on the Rope Lock.
5. Complete Part 4: Step 1 for the opposing net/light 

pole.

Raising and Lowering Your 
SnapSports Multi-Net System
• To raise or lower game net, loosen the winch and 

lower net positioning ropes. Attach the end of the 
net of the J-Bolt at the height that you desire. 

• Place the black rope over the pulley at the same 
corresponding height.

• Tighten the winch until the net is taut. 
• Attach the lower positioning ropes to the 36” 

J-bolt and corresponding pulley for men’s and 
women’s volleyball heights and attach to the lower 
mount for tennis and badminton play.

Your SnapSports® Multi-Net 
Adjustment System is now ready  
for use!
Please remember that this system is designed to 
withstand many years of aggressive play, but it is not 
intended to support players who hang on the game 
nets. Failure to keep players off of the net will result 
in voiding all manufacturer’s warranties.

Thank you for choosing SnapSports 
products.

If you would like to purchase accessories, contact 
your local SnapSports dealer or visit us online at 
snapsports.com.

62"

36"

86"

96"

Net / Light Pole Basketball / 
Net / Light Pole

Foot Peg Foot Peg

J-Bolts

Pulley 
Assemblies

Winch

1-800-664-3865     |     www.snapsports.com
2330 California Ave. Salt Lake City, UT 84104

© 2021 SnapSports v06.3-2021-03-18

4

Assembly Setup

Pulley
Assemblies

J-Bolts

Foot Peg Foot Peg

Net/Light PoleBasketball/
Net/Light Pole


